H Math 2
Test 6 Review
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1) Equation,_ U= V X "4 Ll HEEEN

Domain: EO] ®.) - - -

Range: E— l_l') w> T 1 1.
EIEIENE 4 £ x

Interval of increasing: E 0, COB A S S - - /.—w‘f" =

e

Interval of decreasing: N /A =111 1

x-intercept(s): (e, 03 ! '

y-intercept(s): C 0,— LD

Asymptote(s): non<

Transformation(s): __ S+ dewon A

x—int ( 0)
O-= J'F——Lt

End Behavior: R.G.H x—700)t3-?©

Wo=X
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2) Equation: ﬂ: X+2
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Domain: ___(~00,-2) V (-2 ,003 '
'
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]
Range: L—OO, o) v (o, cos :
1
)
Interval of increasing: Nont L= -
]
=
Interval of decreasing: (-o,-2)u(2 ) E
ro—
)
. _ '
x-intercept(s): none s
1
y-intercept(s): Co,2) v -
WA \V-A.
Asymptote(s):___4=o X=-Z

Transformation(s): \Nerfical stretn \08 4 5 shift ledd+ 2

End Behavior: R .E.B. X-7c0 U"?O

L.E-B. X—=>-o 3—?0



3) Equation: 3 = —Hx+3

E—3,oo'>
(- oo, 6]

Domain:

Range:

None

[-3,00)
(-3,0)
Co,-43)

Nnon &

Interval of increasing:

Interval of decreasing:

x-intercept(s):

y-intercept(s):

Asymptote(s):

Transformation(s): _* Feflect gver x-0XiS, vertical shekh BJ 2. shi ‘JC{' lef+3

End Behavior:

R.E.®& X—7Z7oo, 3’7—@

4) Equation:

Domain: ('ool —0 v ("\>°°>

(—c0,—2)u (~2,00)

<
»

D23y
et )
\

_

B

| )

PRGN Sy -2 2 = = 2 o o o

Range: — » QO
EEEIEE 2 4 8 x LA

Interval of increasing: ("'ooa - 0 v ("\’ 003 """"" ,“‘-‘/‘::;‘—'—‘—‘MHU:._'_Z
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)
Interval of decreasing: N/A |

1

E
x-intercept(s): (-\s, O) !
y-intercept(s): (o> "3) jw
H.A \. A,
Asymptote(s): :1"—"2 Xz -1
Transformation(s):
x-int 4 ( o)

End Behavior: L.E.&A X—~>— ‘d"7”2 ! —2.

= 7 X+

R.E.8. X2 y— -2 |
d= 7 i
1
—d=
-2(x+D) =1 =—|5
-2x -2 = |

—2x= 3
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5) Equation: g=- (X"l\) —4 -0 = 1 X (s @,
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Domain: ( — OD) 00-3 |
Range: ( B CD) "I‘l] —

Interval of increasing: (~wJ ‘)

Interval of decreasing: (- ‘ ;003

x-intercept(s): none

y-intercept(s): (. o0,~- 53

Asymptote(s): none,

Transformation(s): Reflect over x—axis » Shi o

End Behavior: L -E .13, X =7 —co, L(j—?-—o:)

R.E.R X—7@, Y—2—c0

Equation: 5‘—’ 2(X '\'132 - "l

Domain:__(—00 60)

Range: [’ H, OO) .

Interval of increasing; (j‘?— ) 503 117 i

Interval of decreasing: 0~ C0, 2) ]

x-intercept(s): (-2+12,0) ¢ (-2-47,0)

y-intercept(s): (o, 1)

Asymptote(s): one.

Transformation(s): _Veértical stretdn b% 2 lsh'c-p-?- lef+ D, down Y P

End Behavior: X =it o) %0
L.E.B. X5 —00, Y7 o= 2(x+2d -4
R.E-B. X700, y=>eo q-;z(x—rﬂz

r‘z_';'(_/x—\'l\Z

+("2 - X+2
-1tz =X



7) Graph: y =2vx +4 5 ; i 1 NN
Domain: E. - Ll )] dD)
Range: [ O; OO} i

Interval of decreasing: N I A

x-intercept(s): (." 4, 03

y-intercept(s): C 0, LI'.B

Asymptote(s): noné
Transformation(s): N-evtical shretdn \O %2 ) shi ‘?"}' 1Q‘€+ \_l

End Behavior: R.E.R3. X"?@) %’90(3

8) Graph: y = —2(x+3)?>+6 Nertex (—2) (o\ 1.2

Domain: C — 0, QOB
Range: C"' OO) (oj

Interval of increasing: ("’CO ) "'33
Interval of decreasing: ( - 3/ ®)

x-intercept(s): (-3+43,0) (-3-13 )03 i SN AT
y-intercept(s): (o, —12) - o { ‘ g i
Asymptote(s): nonNne v

Transformation(s): ('e.&: lect oNer x—aXis (,\./QJ{“HCO.& shretchh )O't\"l, Sl’\l’H' )&3
Upl

End Behavior: Y-int (0,12) x=int( ©)
LE.® X~7-c0, Y»—0c0 Y=-200+46 . _o(xe2THo
R.EB. X=7oo, yv-co y=-a(N+l _Q,:-zcm):

td—-—lgﬂ-ca 3,,_00,_33
=% *E = x+3

—3+[3 = X



9) Graph: f(x) = —ﬁ— 5

Domain: ("COJ 3) U (3,0()‘)
Range: C"d)) S) L CS,OOB

Interval of increasing: C"CO ) 3‘) v C'B,CCDB

Interval of decreasing: __{DCNE.

x-intercept(s): (2 ﬂs‘ 2 o)
y-intercept(s): C 0 ;‘Ll 1/3) Wi

5-
B A V.~ = x—
Asymptote(s):__4=-5 Xx=3 ldld HB—_ "P"/3
Transformation(s): reflect oveyr Xx-oX |$, sShi 'F"' (‘la‘h'}- 3‘} ClGLOh 5
~ndt:C ,0)
End Behavior: L .E.&. X—>CO , 3_7—5 XO:W:_’\_ __,5
R.EB X7-00,Y7-5 "'?
% %3 sx=14
5(x—33'=_"" xe.'_‘!:_.‘;)g
10) Graph: y=:(x-6)2-3  \ertex (0, 3) S s L2

Domain: C -0, OO’B
Range: E’g', OO>

Interval of increasing: C @ g OO)

Interval of decreasing: ( —&o 6>

x-intercept(s): (‘-" e 0'3 é ((,—-ﬂr. 6‘3 .\ B
=1 DN
y-intercept(s): Co, ‘55 s 3%z (o)

Asymptote(s): Noné.

=13
. L
Transformation(s): _NV €& 11 ca\ Shrin¥ bL{\J 2,

X =1t C o)

End Behavior:

L.C.& X-760 Y4260 o= ja".()(—(‘tﬂz“s

R.E.R. X—zCO U"*?CD 3:1;" CX"CaBz
J-Lo =J(x - 32
*Je = X—CG

rx{o=2 X



Solve.

11) Vx+10 =2
x+l0 =4

14) (Vx = 131 (—3\3
X~=\z= =27

|

17) 0.5x + 1=

x
BSx* £ x =Y
o 5x% 4x —H=0
x*+2x —8 =©
(xad) (x-2) =0
X+4=0 X-2=P

20) x> +4x+8=0
xTrdx+d = —g 44

] (x-p—?_)z:FJ

X+2=12¢

12) Vx=x—-6
X =(.x-'°\z
x = x*-1x+3e
0= xz_\zxr3b

= (x-Q)(x-4)
o (:-q=° x-4so

extraneons

15) Vvx—3—-+vV5x—1=10
Tx-3 =5x
X-3 = 5)"\
—2. = UX
-L 22X
exhmneous

18) 17+ 4Vvx+7 =1
Y{x+1 =-lb
—a .

vt =4

no¥ po ssioVe
o, [ro30WA]

21) V2x—7 =x—3
Ax-1 = LX"?A?'
) = xz-Lx+?
Sxra —2x ¥
0= (X—"OLX""O
x~-4=0
x=t

13) v2x+ 6 —x = -1
2 2
(.‘I zm—bﬁ@‘"‘)
2x+b = x"--?.x-i—\
(o) =X-1""'\"—5

- \
0= (x 5\“"""10

'

extraneous

16) ==x+1

2=x*+X
0= XZ2+Xx —2Z
0= (x+D

xrz=e X~17°

(x=-3

19) 4x2—5=75

+5 +5

yx* =80
o A -\%

{x*:fzo <®

22) 4x*+4x—-5=4
4x> yux -9 =0

X2 -3 Te-aeOCD
2

2 W<
x=—‘*"—4 100 41@3
- TR

y-©



Find the solutions to the following system of equations:

23) y= x*—3x+2 24) y=— 25) y = 2V3x +1
y=x+2 y=x-—2 y=x
. Gde o N
X42 =x"-3x+2 ) = 3 3x+1
-X -2 -x -2
. (x-2DCx+3) = 6 2 x = 3%+
O=Xx%*-4x XZ +x -6 = G .
o:x(x-ﬂ') - -6 le ':Bx"'\
x=0 x-"‘f: X*+x—~12 =0 Hx% -3x —1=0
Y=0+2 el (x+wDx-3) =p ("{X—H)LX ——l)-:_o
- 'dg'“'z ==Y - -
=2 X x=3 Yx+lz=o X-L=0

q -

= =0 4
A CyD
m, (2,0 extraneothS

26) The sum of two numbers is 16 and their product 48. Determine the numbers.
— =43
TN
X
w(x BT

g x ¥48=O

x?..

LX’\Z\ (x -9 :\20
X-\2=0
X=12 x=4

27) The number of gallons of fuel used on a trip varies directly with the number of miles traveled. If
a trip of 270 miles required 12 gallons of fuel{’how many gallons are required for a trip of 350

miles? %:JQTY\ = Z?ém
= R(20) . 2 (3500, [15.6y]
3_':"9 276 8'—’-'16
z.
45 =R

28) The frequency of a vibrating string varies inversely as its length. A string 3 feetlong vibrates 175
cycles per second. Find the frequency of a 5 foot string.

f=x 1B5=Xk f=0a5 o _535
) 2 L 5
538 = -5-': §—; )OSC%QleSﬁ
\oe_wrseconf-‘l

29) Some students volunteered to clean up a highway near their school. The amount of time it will take
varies directly with the length of the section of highway and inversely with the number of students
who will help. If 25 students clean up 5 miles of highway, the project will take 2 hours. How long
will it take 85 students to clean up 34 miles of highway?

4= L 2= Je(s) t=/071 £=10(3)
& Sea> o =
oL
= (= 4 how]

j//0':J€/




30) The strength of a rectangular beam varies jointly as its width and the square of it depth. If the
strength of a beam three inches wide by 10 inches deep is 1200 pounds per square inch, what is the
strength of a beam four inches wide and six inches deep?

6=J€,WO(Z 5=L/a}d2
1200= K (3)(10)> A=yqCd)le)?
=4 B =[576psc

31) Aneggis dropped from the roof of a building. The distance it falls varies directly with the square of
the time it falls. If it takes 0.5 seconds for the egg to fall eight feet, how long will it take the egg to

fall 200 feet? d, LJE/tQ’ a=-32 tZ

8=k (5T _gp0=-3262
o= —32 - —33 d.d second s

2
eSS 6252/t
32) Determine the|discriminant|and the nature of the roots for each of the following

a) y =9x% — 30x + 25 b) y=6x%+7x—5
O ; | real, rationa voot (A 5 7 veol | rodisnal rests
c) y=2x*+8x—15 d) y=-3x2—-7x—-10
134, 2 real, lrotiona | —1L 5 Qimaginary roots
reots

33) Find the solution to the quadratic inequality. Write your answer in interval form.

x>—2x—-8 <0 [’E’zl"lﬂ

(x-)(xx2y 20O

w L

34) Graph: y > -2(x—3)*> -1 35) Graph: y > (x +2)(x +5)  Vertex
1 o (—35—2&5

cefenneion




